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INDIAN SOCIAL PROBLEM

Hkkjrh; lkekftd leL;k,¡

Time : 2 Hours] [Max. Marks : 70

Note :– This paper is of Seventy (70) marks divided into

two (02) Sections ‘A’ and ‘B’. Attempt the questions

contained in these Sections according to the detailed

instructions given there in. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be

issued.

;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–v)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

[k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. What do you mean by Communalism ? Explain its

causes.

lkEiznkf;drk ls vki D;k le>rs gSa \ blds dkj.kksa dh O;k[;k

dhft,A

2. Explain the causes of poverty and its preventive

measures.

xjhcksa ds dkj.kksa dh O;k[;k dhft, rFkk blds fuokj.k ds mik;

lq>kb,A

3. What is meant by Social Problem ? What are the various

approaches of Study Social Problem ?

lkekftd leL;k dk D;k vFkZ gS \ lkekftd leL;kvksa ds v/

;;u ds fofHkUu mikxe D;k gSa \
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4. What do you understand by Unemployment ? Discuss

its causes and consequences in India.

csjkstxkjh ls vki D;k le>rs gSa \ Hkkjr esa csjkstxkjh ds dkj.kksa

,oa ifj.kkeksa dh foospuk dhft,A

5. What is Corruption ? How can it be abolished from

Indian Society ?

Hkz"Vkpkj D;k gS \ Hkkjrh; lekt ds bldk mUewyu dSls fd;k

tk ldrk gS \

Section–B

([k.M–c)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

[k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. What do you mean by Crime ?

vijk/k ls vki D;k vfHkizk; gS \

2. What are the main causes of regionalism ?

{ks=pkn ds izeq[k dkj.k D;k gSa \
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3. How pollution can be controlled ?

iznw"k.k dks dSls fu;af=r fd;k tk ldrk gS \

4. Explain alcoholism and its effect.

e|iku vkSj blds izHkko dh O;k[;k dhft,A

5. Write the concept of social deviance.

lkekftd fopyu dh vo/kkj.kk fyf[k,A

6. Give the reason for crime.

vijk/k ds dkj.k crkb,A

7. Give the reason for suicide.

vkRegR;k ds dkj.k crkb,A

8. Give the reason for child delinquency.

cky vijk/k ds dkj.k crkb,A

**************


